
ml-lg.md=+Cappm
-g.mol

-g.mol:=Na,=Ca

Ca(s) + NaCl(aq)RCOONa(aq) + CaCl

-×

pHlog

HCl(g)STPpH

log

××

××

-×/-×/
-×-×-×-×



pH
-,-

HXHY=mL

pHHYHX

log =

OHC

OHCOHCOHCOHC

pH
-

-××-××
-××-××

HA

-×-×-×-×

MOH

MOH

MOHHCl

O(l)
-g.mol:, Cl==O,=HgmL

OH

HNOHCN

pHHA

/

××××

HApH =

=aK



COBa(OH)

HClCO
-: g.mol, O=C=

O(l)(s) + H(aq) + COBa(OH)

O(l)(aq) + Hl(aq) + HCBa(OH)

pHHA

O(l)(g) + HHCOaN
-: g.mol, Na=, O=, C=H=

HXHY

pH
-: g.mol, HY =HX =

aKHXaKHY

HYHX

HXHY

HApHpH
-: g.mol, O==N,H=

NaOH

(aq)+NappmHCl

NaOH
-: g.mol, Cl==Na,=O,H=



MOH×(aq)+OH

OH

××××

××××

ADXYZ

Y

HX

A

DDX

ZDLiF

DSH

HCN] =[CN

pHpH

HA

Co×HACo

Co

Co

pH

-: g.mol=Ca,=F

O(l)(aq) + HFaCF(aq) + Ha(OH)C

IIIpH

III

III



-: g.mol, K==O,=H

×/HCl

(aq)OH(aq)+H

]OH[

HAHDpH

[HD][HA][HA]-mol.LpH

,     d) BaO,     c) SOO     ,     b) COa) K

addadabcbbcc

HA

][OH]+O[H

YOHHXpH

pH

HXHYHZ

HX

HY

HZHX

HY

HXHZ



pHHA=pHHD= /

HAHD

HAHD

III
-: g.mol, O=N=

III

pH

HAHD

]+O[HHA]+O[HHDpHHA

pHHDpH

(aq)O(l) + BaBrHBr(aq) + Ba(OH)

Ba(OH)

(aq)+BaBaBr

-: g.mol, Ba==Br,=H

(aq)HCl(aq) + F(aq)HF(aq) + Cl

(aq)SO(aq) + HCN(aq) + HCN(aq)

(aq)(aq) +HNO(aq)(aq) +HNO

(aq)COOH(aq) + BrCH(aq) + HBr(aq)COOCH



(aq)XHX(aq)×/

HX

HX(aq)HY

×

pHpH

COHF

ONaON

pHNHaOHN

ORbHCN

×=aK

pH


